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511 =218X=3S 77,000 0 77,000
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S AR Dt 266,779 11,142,841 A 10,876,062
& 77,000
Al 189,779
MAE A DB S 25,300 4,029, 341 A 4,004,041
AL e N Sy 25,300 4,029, 341 A4,004,041
ZHSEIELEAAHI B4 25,300 4,029, 341 A4,004,041
201 Let24dy] 12,100 6,000 6,100
01 At 22/l 12,100 6,000 6,100
OdIHRN=E A 2,100
OMPHIE=E AR ESHI 3,000
OdACRHE sl &3 2208 ME 3,000
OLZHI =8 28 23 WA 4,000
202 oddl 3,200 3,500 A 300
01 = LH o4 1l 3,200 3,500 A 300
OdARN T HR2FE AL 3,200
203 YR =&l 10,000 10,000 0
03 AIZ=XH 2 =AY 10,000 10,000 0
OdAER =4 2=l 10,000
FAHEZ HEAY 157,600 2,100 155,500
& 77,000
Al 80,600
FHEE HE M 157,600 2,100 155,500
& 77,000
Al 80,600
EANFHEEHNE AL 3,600 2,100 1,500
201 £8-2dH| 2,100 0 2,100
01 At 22l 2,100 0 2,100
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=l 2,100
202 Odl 1,500 2,100 A 600
1T =2HA b 1,500 2,100 A 600
O=&Hl &=282 gRF& ol 1,500
HEX 7R =HEZMLSAS 154,000 0 154,000
& 77,000
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2 600
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OlcHE S AR 5,800 5,200 600
T AIJHE A 5,800 5,200 600
S A AL 5,800 5,200 600
202 044l 5,800 5,200 600
01 2Ll 5,800 5,200 600
OEAMNEY SRF=A | 5,800
= 2 2zt &5 12,860 7,023,800 NT7,010,940
S AIEH] 5,200 4,100 1,100
T Al EH| 5,200 4,100 1,100
202 044l 3,200 2,100 1,100
01 2L Y| 3,200 2,100 1,100
OZAIAEH E2F& Yl 3,200
203 &R F & 2,000 2,000 0
03 AIZH =& 2 F X H| 2,000 2,000 0
OEAAEH gRF=4&4| 2,000
QITHALY XA 7,660 7,019,700 ANT7,012,040
Z2oES AT HMAEXH 7,660 5,010,500 N5,002,840
201 Bt 4,460 4,500 AN40
01 AP 22| H| 4,460 4,500 AN40
O0XANGAE BEAHR AIRE23HI| 2,500
OBIXIAIE K| BAH2 ZAH| 1,400
OBITALY Ao SIRsl BM4g
70,000& * 4¥H x 23] 560
202 o4 H| 3,200 3,500 A 300
01 2Ll 3,200 3,500 A 300
O0XAMIERNE SL2=& H| 3,200
HEMSHAY (ZSAIHE D) 65,219 82,400 A 17,181
JlE&dl 65,219 82,400 A 17,181
Jl2 &4l 65,219 82,400 A 17,181
201 et d| 18,779 24,200 N5, 421
01 AP 22| H| 18,779 24,200 N5, 421
OJIsAMEs 3| 8,100
OJIEtx=2tl 3,240
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